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Answers to Conic Sections Review
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Honors Pre-Calculus Name M

Conic Sections Review

Identify the center and radius of each.

_1)' (x+ 6 +(y+13)*=33

(=6, -13) =133

Use the information provided to write the standard form equation of each circle.
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Radius:; 8

Ell lpse\s )
Identlfy the vertices, co-vertices, foci, length of the major axis, and length of the minor axis of
each. Then sketch the graph.
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ntify the vertices, foci, and direction of opening of each. Then sketch the graph.
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For each parabola, identify the vertex, focus, directrix, and direction of opening of each. Then

sketch the graph.
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For the ellipse points given, tell whether it is vertical or horizontal and identify the center.
Then, write the equation of the ellipse.
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For the hyperbola points given, tell whether it is vertical or horizontal and identify the center.
Then, write the equation of the hyperbola.
Ve rhuﬁ, y (Lr\rtj g

11) Vertices: (2, 6), (~18, 6) 12) Vertices: (9, 0), (9, -12)
Endpoints of ConJugate Axis: ( -8, 12) Endpoints of Conjugate Axis: (14 —6)
Conder (=%,0) 8,0) il (ot (qfw(a) (4, -6) |
! ’ it 18 b ( Y
Hod Zantat (X Comes Bvs¥) WP | /’l
' B 2 ( \/'%) (% T)
CXA—?) (v () ""“% - (;5""‘"‘ =\ f/
- = 36 ' |
100 36 &
& 54 @ 5 3
L
Use the information provided to write the vertex form equation of each parabola.
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Identify the conic section provided (circle, ellipse, hyperbola, or parabola) Then convert the
shape into Standard Form (Vertex Form for parabolas) “ e
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